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QID : 1 - In the following question, select the related word from the given alternatives.

Farmer : Field : : Painter: ?
frafafaa wea #f faw v fwedt 7 3 wafta wee = g

e g e ?
Options:

1) Gallery

[EERIC]

2) Stage

A

3) Theatre

THT

4) Shop

g

Correct Answer: Gallery
ISERIC]

Candidate Answer: Gallery
fermar

QID : 2 - In the following question, select the related word from the given alternatives.

Sunday : Thursday : : Wednesday : ?

famafafaa v # R v faeedt 4 9 wafta weg # I

a7 AR ?
Options:

1) Sunday

T

2) Friday

e

3) Saturday

ufEr

4) Monday

HFaR

Correct Answer: Sunday
faam

Candidate Answer: Sunday
TEE

QID : 3 - In the following question, select the related letters from the given alternatives.
MN:OL::SH:?
eafaflm wa 3 R v fasent # & wafta werd # gl

MN:OL::SH:?
Options:

1) VE

2) UF

3) UG

4) VF

Correct Answer: UF
Candidate Answer: UF
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QID : 4 - In the following question, select the related letters from the given akematives.

STOP: TRVT::?2:7
Ferefedti m & R A fredt # & wefie sent #r giw)

STOP:TRVWT::7%:7

Options:

1) MIND : EQLQ

2) HALL : PLCT

3) SAND : UDHS

4) BANK : CCQO

Correct Answer: HAIL : PLCT
Candidata Answer: [ NOT ANSWERED ]

QID : 5 - In the fallowing question, select the related number frorm the given altematives,
48 :216::64:?
fArnTTee wer & B ae frsrdt & 3 wefla dear #1 giv)

48:215::64:2

Ooptons:

1) 288

2) 276

I 312

4) 264

Correct Answer: 288

Candidate Answer: [ NOT ANSWERED ]

QID : & - In the following quastion, select the related rumber from the given alternatives.
36:27::196:7
frrfafem me # R 7w et # @ 53T 5o 1 gt

36:27::196:?

Options:

1) 257

2)89

3173

43 343

Correct Answer: 343

Candidate Answer: [ NOT ANSWERED ]

QID : 7 - In the following question, select the odd word pair from the given alrematives.,

Ferreiailie T 3 R oo Freeed 3 @ fraw g, oW &1 R
Options:

1} Speaker — Sound

Tt —eafer

2} Bulb - Light

T - Wiedr

3) Fire - Heat

M -

4) Farth - Land

Correct Answer: Earth - Land
Tt - oy

Candidete Answer: Earth — Land

T - HE
QID : § - In the following questicn, select the odd weoard pair from the given altematives.

Farnfafds v & e e st 3 9 favs g 7w =Y 9fo)
Options:

1) Wheat — Rabi

¥ -

2) Rlce - Rabi

T - &l

3) Maize - Kharif
TR - adrn

4) Barley — Rabi

st -

Correct Answer: Rice — Rabi
1T - T

281
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Candidate Answer: Rice — Rabi
qrad — T

QID : 9 - In the fallowing question, select the cdd letters from the given alternatives.

iRl w7 R frerest o @ fr st o =i
Options:

1) GEF

2) MLK

31

q4) vy

Correct Answer: VWY

Candidate Angwer: [ NOT ANSWERED ]

QID ; 10 - In the foltowing question, select the odd letters from the given alternatives.

et ma # i e frarest % @ fow st S gfm

Options:
1) AFL

2)IMQ
2EN

4) MQU
Correct Answer: FIL
Candidata Answeat: EIL

QID : 11 - In the foltowing quastion, select the &dd number from the given alternatives,

Frieies Wi & B v et # 4 Rew g & g

Options:
1J15-45

29-29
3)31-93

4341 - 123
Correct Answer: § — 39
Candidate Answer: 41 - 123

QID : 12 - In the folfowing question, seled the odd numbes pair from the given alternatives.

Femrfei e et & e e Rt F & Bs woar 3w W 9w

Options:
1)8-72

26-42
3)12- 156

$4-12
Correct Answer: 4 - 12
Candidate Answer: [ NOT ANSWERED ]

QID ; 13 - Amrenge the given words in the sequence in which they cogur in the dictionary.

1. Reputation
2. Reptile

3. Republic
4. Replicate
5. Repositary

Ferrefafire treet 1 weesy 3 and @ e & A ferch

1. Reputation
2. Reptile

3. Republic
4. Replicate
5. Repository
Options:

1) 42531
243251
395312
4145231
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Correct Answer: 45231
Candidate Answear: 45231

QID : 14 - Arrange the given werds in the sequence in which they ootur in the dictionary.

1. Habit

2, Habiat
3. Handle
4. Rammer
5. Harvest

TArATATm HRal 1 e 3 I AT F9 F 3EN )

1. Habit

2. Habitat
3. Handle
4. Hammer
5. Harvest

Opticna:
1) 21453
2) 12435
3) 21435
4) 14253

Carrect Answer: 12435
Candidate Answer: 12435

QID : 15 - A series is given with one term missing. Select the correct altemative from the given ones that will complete the series,
B G, N, W, ?
T A e B, a9 od ae e 81 Tee a9 faset F ¥ o e e 7R, I aaER S st

B,G,NW?
Options:

NI

2)G

3]

4 H

Correct Answer: H
Candidate Answer: H

QID : 16 - A series is given with one term missing. Select the comrect altermative from the given pnes that will complete the series.
B, ELSK?
O WA AT A ¥, Trwd & oF 9E e ¥ R 9 R & ¥ 7 7 Eew IR0, 5 3RS S qu

B,ELSK?
Options:

1w

21X

U

ny

Correct Angwer: W
Candidate Answer: U

QID : 17 - In the following question, select the missing number from the given series.
67, 70,74, 77,81, B4, ?
ot wear # R are Reedt & & oo s ard Hifdel

67,70,74, 77,81, 84,7
Options:

1) 87

2) 88

386

4) 89

Correct Answer: 88
Candidate Answer: 83

QID : 18 - In the following question, select the missing number from the given seres,
6, 19, 54, 167, 494, ?
frrriotam wie # R e frwedt # 2 goa st e Fiom

€, 19, 54, 167, 494, 7
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Options:
1) 1491
2) 1553
3) 1361
4) 1642

Cotrect Answer: 1991
Candidate Answer: [ NDT ANSWERED ]

QID : 19 - In 2 row of cars, ned car is 14" from left and 23 from right. How many cars are there in the row?

FRT 1 T ST &, T T & 14 dt T2 ad & 23 4 ¢ e # Rrad w g

Options:
1) 36

37
335

4) 34
Correct Answer: 36
Candidate Answer: 36

QID : 20 - In a row of people, there are 12 peaple before 0. There are 4 people between F and Q. There are 15 people between Q and 5. If there are 8 people
between 5 and R, then how many minimurm pecple are there in the row?

R A OF TR A, Q A IR 12 AN EI P AYTQ F T HF 4 AW F1 QU S T A 15 S E| 9 S Tar R F AT F 8 |r £, o 9fa A 5 P o

Dptions:
1)2%

2)32
N3

437
Cotrect Answer: 29
Candidate Answer: [ NDT ANSWERED ]

QID : 21 - If 'P 3 (Y means 'Q is daughter of P, 'P S Q' means 'Q is son of P, 'P 7 ¥ means ‘P s sister Q', 'P 9 (¥ means ‘P is brother of {'. Which of the following
exprassion indicates A is nephew of D?

TRPIQFATQPHTAIL PR FHIQPATY, P7QFHEP, QI Y, PIQ Fard P, Q1 s ¥ =R F X Ao s AR D
&1 areivan vl &7

options:
1)BID5SCS5A

2)B7D7C3A
PEIDICHA

4HBE7DSCIA
Corvect Answer: B7D9C5 A
Candidate Answer: [ NDT ANSWERED ]

QID : 22 - In the following question, select the word which cannet be formed using the letters of the given word.

ENCOURAGIRG

Fnfaffis Preredt 4 & ag veg gfiv o e 1o o & e 1 i &k A 9T A aa
ENCOURAGING

Options:

1) GRAIN

2) RAGING

3) GAUGE

4) ENCOURAGE

Corract Answer: ENCOLURAGE

Candidate Answer: ENCOURAGE

QID : 23 - In the foltowing question, select the word which cannct be formed using the letters of the given word.
LANGUAGE
Trrataitre Rewdt A & oy yex 9o S Rie are i & e o sy ks Al aaran s wl

LANGUAGE
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Options:

1) SLANG

2) GAUGE

3 GLANE

4) GANG

Cotrect Angwer: SLANG
Candidate Answer: SLANG

QID : 24 - In a certain code language, "RESTED” is written as "SDTSFC" and "POINTS" is wiitten as "QNIMUR". How is "BANNED" written in that code
language?

o fafig 1z AT &, "RESTED " F "SDTSFC" 36T AT § & "POINTS™ 1 "QNIMUR" T2 ST §) 79 T3 5191 & "BANNED™ F) f 39 g smeam?

Options:

1) CZ20MFC
2) ABMODE
3) C200DE
4) ABMMFC

Correct Answer: CZOMFC
Candidate Answer: CZOMFC

QID : 25 - In 2 certain code language, "CONGQ" is written as "RZPRD" gnd "TREAT is written g5 "UQGEWX". How is "PHONE™ written in that coce language?

o RaftT FiT #1971 &, "CONGO™ = "RZPRD" foram FTe & Fur "TREAT™ H1 "YQGWX" = 5ar &1 o F1T /var A "PHONE" ¥ TR s o swean?

Options:
1) QI

2) KMQHK
3) MKQKH

4) LLPIL
Conrect Answer: KMQHK
Candidate Answer: [ NOT ANSWERED ]

QID: 26 -
If "@“ denotes "added to®, “#" denotes “multiplied by, “®" denctes "divided bv* and “%0" denotes "subtracted from”, then which of the following equation is rue?

oy ~@" # ¥ A g, "#"iiranﬁ‘“r_’rbn"'%, "™ &1 3 M E A %™ & @ e ¥, of feafafan # & wta aoadsvrad 2
Options:

18P RWBAB%E=D

N%WHWIIF2@8=45

PO%MBI@IES=12

N3 %I@®2F @3 =4

Cormect Answer: 42 % 26 @13 # 2 @8 = 45

Candidate Answer: 42 % 26 @ 13 #2 @ 8 =46

QID : 27 - If "A" denotes “added to", "B" denotes "subtracted from*, "C~ denotes "mukiplied by™ and "D” denotes "divided by", then which of the following
equation is true?

Ife A" F 0 ST, " W g twere §, e W s e § e DT T Y e 8, Y Tsaiae & 3 S wr e vl &7

Options:

1)68D4A6B3ICE=0
D13BED3C2A8=12
F2DIBCI4BEEA 0= -4

4 12A6B3C4D3 =14

Correct Answer: 12 AGB3C403=14
Candidate Answer: [ NDT ANSWERED ]

QID:28- K6 #8=10and S# 12 =13, thenS # 40D =2

TH6#E=10TTS#12 =13, AI# 40 =2
Options:

1) 47

2)63

341

4) 53

Correct Answer: 41

Candidate Answer: [ NOT ANSWERED ]

QID : 29 - I 7 (110} 4 and 19 {930) 12, then what is the value of ‘A’ in 16 {A) 97

e 7 {110) 4 74T 19 (930) 12 &1, T 16 {A} 9 &, A F AR FW &7

Optons:
1) 580
2) 600
3) 640
4) 700
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Candidate Answer: [ NOT ANSWERED ]

QID:30-

Staff Selection Commision

In the following question, select the number
which can be placed at the sign of question

mark (?) from the given alternatives.

frafaflaa us F few ov Rpeut & & ux

g (?) & TUE W 3 arell @A &t

gfaw

Options:
1) 84

2) 91
3)83

4) 95
Correct Answer: 84

Candidate Answer: [ NOT ANSWERED ]

QID:31-

In the following question, select the number
which can be placed at the sign of question

mark (?) from the given alternatives.

ferafai@a ua & fGw ow Raeat & & oA

Reg (7) & TIE W 1S el @EAT B

gfam)

4 15 12
9 19 7
6 | 6 | 3 [ 2 ] 4 |21 ]
Options:
1) 105
2) 95
3) 190
4) 120

Correct Answer: 95
Candidate Answer: 95

fgrldt-. p
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QID:32-
How many rectangles are there in the given
figure?

& o gy & frae s ¥2

s {/ /)\\\
z //- .-//
4 P
y |7
'// ,‘\\\ y
"\\: e )/
“, /
Options:
1) 19
2) 16
3)17
4) 18
Correct Answer: 19
Candidate Answer: [ NOT ANSWERED ]
QID: 33-
How many triangles are there in the given
figure?

& 73 rpfa A fordar fga €2
;/\\'\

\

N\

Options:
1) 12

2)11
3)10

4)15
Correct Answer: 11
Candidate Answer: 11
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QID : 24 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the condusions and then decide which of the given conclusion togically follows the given statements,

Statements:

I. Some dothes are white
II. Scme white are flags.
IfL Mo flag is straight.

Condusions:

I. Mo cloth is straight.

IL. Some white are straight
TII. Sorne Aags are clothes.

A T 77 NedF W A 9 FUR AR 39F a5 39 FA W amafia o e Ry o £, awitE 39 wae e e & e 8 e §1 e fonaed o di
T T FT TR R 510 1 A Tred, RIT 70 e & i ) YRS &)

L.

L 5 793 Tz #

IL. % T 508 B

UL ¥ oy dhyr =18t #1

g

1. 5 o5t dver 7 £

Il o s A ¥

IIL % 5103 w3 |

Options:

1) Cnly conclusion (T follows
¥ e () T

2) Only conclusion (I} follows
¥ T (1) A& ¢

3) Only conclusion (III} follows
Faer el (1I1) 7l

4) None follows

FiE A TRy adr A E
Correct Answer: Mone follows
wu§ oy Tremd iy Adf &
Candidate Angwer: None follows
T ofr vy oy AT §

QID : 35 - In each of the following question belaw are given some statements followed by some conclusions., Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the candusions and then decide which of the given conclusion togically follows the given statements.

Statements:

L. Al pagas are yellow.
IL. All yellow are newspaper.
IL1. Some newspapers are natioral.

Conduslons:

1. Seme national are yellow.

IL. Some newspapers are pages.
IiI. No page is national.

I w0 9 99F A F FUR 3T I a1 39 F 9T 3matia T frerd 1T e ¥, 2t 39 g a aut @ feron @ T ) 3 e o 3
e P ¥ i R i st 3 et R ane et &5 3w R R £

W

L @dh wa T §1

I, 3 rér e o §)
Il1. $& HAMR T T §)

fored:
L 7o wfa T

IL. F WAII 9 H11A §

If1. % Fror ey 1t &
Options:

1) Cnly <onclusion {I) and {11} follow
FIF T (1) Tum (11) T &

2) Only conclusion {I) and {1IT} follow
e Foresmd (1) & (L) §

3) Only conclusion {10} follows

Faw forad (1) 7l &

43 Only conclusion (IIT) Follows
¥ e (D T &

/81
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Correct Answer: Only conclusion (11} follows
Faw et (D ad &
Candidate Answer: [ NOT ANSWERED ]

QID: 36 -
From the given options, which answer figure

can be formed by folding the figure given in
the question?

farafafa Reei § & #la @ 51

gl ww A § i gl B Az 7=
AT Wl §2

Candidate Answer: [ NOT ANSWERED ]
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QID:37-

Three position of a cube are shown below.

g T ua & 1T U’ ST T &

il Z R ~ R

p |Q T

Which letters will come on two faces marked
‘1and 2'?

1 Fur 2 3ifRa XA Fell W BT T R
TEIAT?

F2T
o |@

(
e

e

Options:
1)Uand P
Uaarp
2)QandR
Q@R
3)Pand s
PAuUTS
4)Rand P
R P
Correct Answer: Q and R
QaurR

Candidate Answer: [ NOT ANSWERED ]

QID : 38 - Identify the diagram that best represents the relationship among the given classes.
Yellow, Vegetables, Red Blood

ag 3N G S A R are aut & e & way @ ad fsger e g

ofte, wfew, are sy

jgrldt, p
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Options:

&
QD

3

9

O

Corract Answer:

@
O

00
0

QID:29-

In the given figure, how many big botlles are
not blue?

D
O
@)

& aré sty # Recer a8 araer deh e
¥

Bottle/
92 CIGED
37/ 3

N

)
Big/ 115
" a7
= // :

Blue/eftel

options:
137

2118
3152

4y 89
Cotrect Answer: 37
Candidate Answer: [ NOT ANSWERED ]

ﬁgradq i
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QID : 40 -
In the given figure, how many colour
televisions are not wide?

& 7S gy &, frad it thfea =ty
e €2
2k
Wide/ 51 (’2‘ 63 \  Television/
i3 43 Eoifase

\éﬁ@%/
™, ?B v

Colour/{afie
Options:
1) 72
2) 18
3)43

4) 61
Correct Answer: 18
Candidate Answer: 18

QID: 41-

Which answer figure will complete the pattern
in the question figure?

e T IR NG TH FHa & Taed ot
T HO?

Il

H™

fgrldt-. p
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Opticns:
1

QID:42-

Which ariswer figure will complete the pattern
in the question figure?

dld & 3 EfT U amepfa & wfawT o
o H?
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Opticns:
1)

2;

3

Corract Answer:

Candidate Answer:

QID: 43-

Staff Selection Commision

From the given answer figure, select the one

in which ihe question figure is

hidden/embedded.

A T W AG@aE 7 A 3H R SES

@ giaw fow & us sgia fAfea ¥

?

ﬁgradq i
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Opticns:
1)

5

2;

3

)

Corract Answer:

i

Candidate Answer:
><)
Rl

QID: 44 -

From the given answer figure, select the one
in which the question figure is
hidden/embedded.

& W R agladl F ¥ 3@ zow Al
w giaw 5w & ua wla Bfa &

A
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Options:

)
Q7

N Ie

2;

3

2

Corract Answer:

X

Candidate Answer:

X

QID: 45 -

A piece of paper is folded and punched as
shown below in the question figures. From
the given answer figures, indicate how it will
appear when cpened?

& & waA sl i femre AgER were
T AFE De JUT Wil & 415 g8 g
™R Hpa S fmd &ame

aERIERIS
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Opticns:
1)

2;

3

Candidate Answer: [ NOT ANSWERED ]

QID : 45 -
A piece of paper is folded and punched as
shown below in the question figures. From
the given answer figures, indicate how it will
appear when opened?

A & W arpiaar & femre sgEr @ere
T AIZH Saa oAl Fiokd & a6 a8 e

3 Iepta ota Rarg &ane

NI
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Opticns:
1)

[ ]

-

Candidate Answer: [ NOT ANSWERED ]
QID: 47-

If a mirror is placed on the line AB, then
which of the answer figures is the right image
of the given figure?

afg v gdu @ AB Y@ OX @M ST, o &

I R ApfaEt & F Al @ sgpfy os
i &1 78 ufafee gefty

A
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Opticns:
1)

—

2;

—

Candidate Answer:

QID: 48 -
If a mirrer is placed on the line AB, then

which of the answer figures is the right image
of the given figure?

I TF IO PrAB YET W T@T AT, O &
M >R aMqicar & & Fte i i o4
NTptar & FEr At geir?

f-1

m A
© <

W
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Options:
1)

2)

3)

4)

DD e B (VD [V D
oM (VD eH|eH

i
|

A
v o

Candidate Answer: [ NOT ANSWERED ]

QID : 49 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the allernetives are represented by
two classes of alphabets as shown in the given two matrices. The columns
and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-ll are
numbered from 5 to 9. A letter from these matnices can be represented first by
its row and next by its column, for example, ‘B" can be represenled by 04, 20,
etc , and ‘T' can be represented by 56, 95, elc. Similarly, you have to identify
the set for the word “SLAP"

UF e da U S g g wan § S R faweal A @
& g ) Fomeut @ e o dsar-aep anwl & & a9t aro auiv
e § St B Rw e g st & b anegpl B owaea i ofe f dwan
0 @4t Mramcge) HS5A 91 39 HE H UH HEW @B Ugel SEM GfE
R am & TEEn FE AR e o e §) e & Fe B 3 04,
20, 3 &w axfan o @ewar § A ‘T @ 56, 05, R EWr EwmEr
wwen B s e & anum wa A Ru e “stAP” & R wap @

Opdi=eT &l
Matrix-| Matrix-li
-l -l
o[1]2]3]4 5/6]7]8]9
0|L[A[M|Y]E 5|0|T|S|RIP
1|M[Y[B[L[A B|S|O[P[T|R
2|B|LIAIM]Y TIPIR|O|S]|T
3|AIMIY[B|L 8|R|P|T|O]|S
4[Y[B[L[A[M 8 [T[S[R[P]O
Options:
1) 57, 00, 20, 13
2) 65, 21, 75, 66
3) 78, 34, 43, 86
4) 96, 42, 98, 77

Correct Answer: 78, 34, 43, 86
Candidate Answer: [ NOT ANSWERED ]
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QID : 50 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the allernatives are represented by
two classes of alphabets as shown in the given lwo matnices. The columns
and rows of Matrix-l are numberaed from 0 to 4 and that of Matrix-ll are
numbered from 5 to 9. A letter from these matrices can be represented first by
its row and next by its column, for example, ‘R” can be represented by 10, 42,
eic., and ‘U’ can be represented by 75, 89, etc. Similarly, you have to identify
the set for the word “BOND".

UF Qg had Uh Ea-mp g g ¥ S o faseut 3 @ R
g A Bar arm ) fawen! A Bu w @wa-aaE e & &) @l gro guie
¥, St R T oaw gt amegpt A § el s i ofF S wwan
0 R4t framege) M s5d 01 27 FYR A od HaT W opd IEA ofn
IR T A TaEn WEW TR e S WhaT &1 IawAor & R A0,
42, W% W g9 S maar & oaur U @ 75, 00, g g ZulEm am
gaar B e ot @ aud uw 3 Ru g “BOND” & fw @R @

OFaREE §1
Matrix-| Matrix-Il
FE-l gl
0]1]12[3|4 5/6|7(8]9
O|B|D(A|R|E S|L|IO|GIU|N
1|R|E|D[B|R 6|O|N|UIG|L
2|D|R|E|A|B 7|/U[L[N|O]|G
3|E|A|B|D|A B8|G|U|L|N|O
4|A|[B|R|E|D 9IN|[G|O|L|U
Options:
1) 00, 97, 56, 41
2) 13, 65, 66, 22
3) 24,78, 33,13

4) 32, 89, 59, 20
Correct Answer: 32, 89, 59, 20
Candidate Answer: [ NOT ANSWERED ]

QID:51- unemployment happens when people are not able to find jobs during some months of the year.

Y o e &, S S ad & o w7 IR e w6 e E
Options:

1) Seasonal

e

2) Disguised

L

3) Educated

fafea

4) Technical

GETichs

Correct Answer: Seasonal
e

Candidate Answer: Seasonal
Hter

QID : 52 - Which among the following comes under secondary sector of Indian Economy?

fafatia 7 & #tF s arieuaear 3 gfades 89 ¥ Aaa a7
Options:

1) Cloth Industry

ST AT

2) Transport of goods

FE3 F afEE

3) Cotton production

FATH & IcAe

4) Banking

Eico

Correct Answer: Cloth Industry
CREECTIL

Candidate Answer: Cloth Industry
FIsT e
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QID : 53 - In which economic system the goods produced are disibuted among people not on the basis of what people need but an the basis of Purchasing Power?

Ty T T 3F STy SEgaft 31 Tafdvesy et 3 AT RIeRT Ty FIRTEary & HrTArT A Mt 30 70 LTeh & HTT OF 8T 7
options;

1) Socialist

BATHAE

2) Mixed

e

3) Capitalist

4) Marzist

AR

Correct Answer: Capitalist
ey

Candidate Angwer: Capitalist

QID : 54 - Which among the following is an example of progressive tax?

frrafaftle @ & »fa va anfAsfra =t = sagar 87
Options:

1) Exrise duty

FeqE Y

2) Octrol

ki

3) Income tax

3T

4) House tax

T’

Correct Answer: Income tax
ek 2y

Candidate Answer: [ NDT ANSWERED ]

QID : 85 - In which year 'New Economic Policy’ was anncunced in India?

A # Few ad & A i i Fr sryom 61 o A9
Options:

1) 1960

231991

31992

4) 1989
Corract Angwer: 1991
Candidate Answer: 1991

QID : 56 - Who among the following is a part of political executive?

FrriRfe # & wla vw oo el = R ée
Options:

1) District Magistrate

e e

2) Secretary of Ministry of defence
T8 HATY T A

3) Finance Minister

Tarcaarf

4) Superintendent of Police

ofera s

Correct Answer: Finance Minister
Reh

Candidate Answer: [ NOT ANSWERED ]

QID : 57 - Indian Parkament is .

wom Eeg ¥

23581
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Options:
1) Unicameral

T T

2) Bicameral

Zfr wedrr

3) Tri cameral

iEE: == )

4) Nane of these

A A A

Correct Anawer: Bicameral
afr gesT

Candidate Answer: Bicameral
afr wad

QID : 58 - Which among the following country s not a part of "Second World Countries"?

Ferafailm 3 & =t ar Zu gl g & dik w7 e = ure
Opticns:

1) Russia

-

2) China

Eicl

2 Mengolia

st

4) Argentina

T

Cotrect Answer: Argentina

Fordir

Candidate Answer: [ NOT ANSWERED ]

QID : 59 - Which artide in ITndian Constitution describes India as "Union of State'?

HICey TR & FT A s F W F ol FHT gy §?
Options:

1) Aticle 1

T L

2) Article 2

o3z 2

3) Article 3

sede 3

4] Article 4

AT 4

Correct Answer: Article 1
IR 1

Candidate Answer: Artice ?
HRT2

QID : 60 - In which Constitutional Amendment Act, socialist and secular were added to Preamble of [ndian Constitution?

Forg wiffers HIIR & IS AT & GEITaaT 3 TrsTate o UHTARerar Y Sier v ar?
Optiong:

1) 407 Constitutiona) Amendment Act

40 At witawnfers daree

2) 42t Constitutional Amendment Act

42 9f wifdwnfas dwras

3) 44" Canstitutiona) Amendment Act

44 a7 Fifeniores A

4 45th Constitutional Amendment Act

4% a7 wifmizs Ay

Correct Answer: 42 Constitutional Amendment Act
42 af witgender derew

Candidate Answer: 421" Constitutional Amendment Act
42 a7 gifesnF dwaA

QID : 61 - Indian Constitution provides haw mary writs?

arelrer dfdere A e wwr & R (ke ar e &7

2481
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Options:
1)4

2)5
3)6

4)7
Correct Answer: 5
Candidate Answer: [ NOT ANSWERED ]

QID:62-
Match the following.

Faferfa w1 fam fifsg)

Theories / fRigia Concepts/ ATETLT
1. Marxian Theory a. Payoff

2. RealistTheory b. Power
Ferdardl g s
3. Game Theory c. Classstruggle
Options:
1) 1-¢, 2-b, 3-a
2) 1-b, 2-¢, 3-a
3) 1-a, 2-b, 3
4) 1c, 2-3, 3-b

Correct Answer: 1-c, 2-b, 3-a
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - Who described Constitution of India as ‘quasi-federal'?

AT S ';,mmfl 2T FREeT garar ar?
Options:

1) Grawville Austin

e s

2) lone Jennings

HEE SR

3) Morris Jones

HifH Sieg

4) K, C. Wheare

&, . auy

Correct Answer: K. C. Wheare
&, @, aat

Candidate Answer: K. C. Wheare
F, & 3w

QID : 64 - How many Mahajanpadas were there in ancient India?

aTeier M & fRae Sereeag 97

Options:
1) 20

2) 16
3)18

4) 10
Correct Answer: 16
Candidate Answer: 16

QID : 65 - In which century Bhakti movement began?

i Jieler T aremed) # Y gam ar?
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Options:

1) 6th century

& 4t wared)

2) 7 ™ contury

7 ot ey

3 8t century

& o arar=dy

43 90 century

o f wer=ey

Correct Answer: 7 ™ century
7 4 ey

Candidate Answer: 5% century
o &yl

QID : 65 - Marco-palo, a famous traveller, was native of which country?

wia i, AR S, R 2 w1 A e ar
Qptigns:

1) Uzhekistan

sorfreana

2) Italy

Ero g

3) Morccoa

AT

4) Russia

=

Correct Angwer: Italy
et

Candidate Answer: [taly
fre

QID : 67 - Set the folkowing dynasties in chronological arder of their period of rule,

1. Khilji Dynasty
2. Lodhi Bynasty
3. Tughlag Dyrasty

TR Tl ATl 3 3 TR & ST SR R

1. FReS smTT
2. #indt mrAT=T
3. FAAF AAGT

Options:

11,32

23, 1,2

32,21

43,21

Correct Answer: 1,3, 2

Candidate Answer: [ NOT ANSWERED ]

QID : 68 - In which year Quit Indiz movement started?

M S e e T & W o un

Qptions:
1) 193¢

2) 1940
3) 1942

4) 1995
Correct Answer: 1942
Candidate Angwer: 1942

QID : 69 - Which amang the following is not a cash crop?

Forriatirs A & i oo e o T R

28/681
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Options:

1) Cotton

FaE

2) Groundnut

Ao

3) Tea

I

4) Jowar

Ty

Correct Answer: Jowar
Fax

Candidate Answer: Cotton
g

QID : 70 - How much porticn of earth's surface is covered by water?

e £ Ty 1 P e | & g g 7
Optigns:

1) One-third

wh-fgrd

2) Gne—fourth

-t

3 Tyro—third

a-fererk

4) Half

o

Correct Answer: Two—third
AREAE

Candidata Answet: Two—third
2-forerd

QID : 71 - Indian Standard Time (IST} is based upon Indian Standard Meridian which passes through n

AT AR TP (1ST) ST A ARBZR ar A g5t e I &
options:

1) Jatpur

AR

Z) Kolkata

WRTHTET

3) Abmedabad

HeAgIg

4) Allahabad

AT

Correct Answer: Allahabad
TATEETE

Candidate Answer: Ahmedabad
HEHTRTG

QID : 72 - Wwhich among the following eiver is atso known 23 'Tsangpoe'?

Ferrerforfira 31 3 sha oy A ot aioit it st v §2
Options:

1) Krishna

L aul

2) Godavan

Teradt

3 Ganga

i

4} Brahamputra

AT

Correct Answer: Brahamputra
VAT

Candidate Answer: Brabamputra
A

QI : 73 - "Chumnbi Valley" s located in which state?

gt TR o T 3 e B2

27561
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Options:

1) Sikkim

lCE

2) Himachal Pradesh
Fraras g

3] uttarakhand
Fec{TEgvE

43 Kashmir

HEATY

Correct Answer: Sikkim
ARER

Candidate Answer: [ NOT ANSWERED ]

QID : 74 - Guard cells surcgunds __ .

mrEfEm _ wad
Options:

1) Nucleus

Lo 4

2) Stomata

I

3) Golgi appartus

Ftestt IaaTor

4) Mitochondria

AT T

Correct Answer: Stomata
™

Candidate Answer: Nucleus
Lo

QID : 75 - What are male gamets called 2s?

T YFAT F T FE 7
Options:

1) Zygate

TR

2) Ova

ey

) Sperms

T

4) Embryo

¥or

Correct Answer: Sperms
kil

Candidate Answer: Sperms
ey

QID : 76 - At which period of kife, body undergoes changes leading to reproductive maturity?

TR AT € Hafr & 40T A T RE g § RO Qo Re e arroes A £
Optiong:

1) Adulthood

FATERAT

2) Adolescence

Famitaraenr

3) Adrenaline change

T i

4) Target pericd

oo smrm

Correct Answer: Adclescence
finraen

Candidate Answer: Adolescence
icaicicesl))

QID : 77 - Which of the following cell erganalls are present only in plant cell?

forratatia & @ wha o Sifisir faa o wifEm & Fra da 32
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Options:

1) Cell membrane

FIHEFT Breddr

2) Cell wall

wfHw B

3) Mitoechontra

AR EEH

4) Lysosomes

AFERA

Correct Anawer: Cell wall
T Bt

Candidate Answer: Lysosomes

AT

Staff Selection Commision

QID : 78 - Twa Bones are connected to each other by connective tissue called as .

7 T A A E I A F FAN S TR AL e W d

Optigns:

1) tendan

Lo

2) ligament

L2 e

3) neuran

g

4) adipose

TRRT

Correct Answer: ligament
g

Candidate Answer: [ NOT ANSWERED ]

QID:79-
Maich the following.

fRaeRe = e S

Mode of reproduction /
Watelel &hl Wbl

1. Fission

formo=a
2. Regenerafion

o o

3. Budding
AR

options:

1) 1-b, 2-a, 3¢

2)1-a 2 3b

3)1-c, 22, 3b

43 1-a, 2-b, 3¢

Correct Answer: 1-b, 2-3, 3¢
Candidate Answer: 1-c, 2-3, 3-b

QID:BO- A splits sunlight into seven cofours,

T & w1 ) w Aol & R a ATl
Options:

1) concave lens

T v

2) convex lens

e AW

) prism

e

4) concave mirror
FHaaw 4o

Correct Anawer: prism
firer

Oorganism /
sha
Planaria

el n

Amecha

rtar
Hydra
BEEl

ﬁgradq i
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Candidate Answer: prism
i

QID : 81 - What is the process of conversion from selid to gas is known as?

2 B o & wwaw B e B 7w E?
Options:

1} Fusion

|

2) solidification

FHA

) Sublimation

FUAETTT

4) Condensation
AT

Correct Angwer: Sublimation
S

Candidate Answer: Sublimation
Fedare

QID : B2 - At what temperature water converts to water vapour?

FRE AR T AW, T 7 OREted 2 £

Opticns:
1) 273k

2) 100 k
3373k

40k
Correct Answer: 373 k
Candidata Answer: 273 k

QID : 83 - What is the unit of frequancy?

yfa & AT Fw ?
Options:

1) Decible

e

2) Watt

i3

3) Hertz

wa

4) Newton

e

Correct Answer: Hertz
BEa

Candidate Answer: Hertz
&

QID : 84 - Which amang the following isfare output devices?

L Scanner
IL. Speaker
ItL. Plotter

ferrfirfim ¥ & 2l v wroqe e i

L&

I TRFT

IIL wRteT
Opticns:

1) Cnly I

aw I

Z2)Only 11
Faer 11

3) Beth II and III
10 77av [ 2
4) Bath [ and I11
132 11T gkt

30481
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Correct Answer: Both II and TIT
I F4r 11t 2t

Candidate Answer: Onky I[
Lrdi

QID : 8BS - IBM 701, IBM 702, IBM 650 are examples of .

IBM 701, IBM 702, [BM 650 _____ & IgI5TT &
Options:

1) First generation computer

T T FET

2) Second generation compuber

Zad 0l ey

3) Third generation computer

el I e

4) Fourth qeneration computer

ity vy e

Corract Angwer: First generation computer

Candidate Answer: [ NOT ANSWERED ]

QID : 86 - Spinach containg _____.

e ST gl
Opticns:

1) Lactic Aoid

AfTE wew

2) Oxalic Aad

HFAfors AT

3) Carbanic Acid

wriifers 3

&) Formic Acid

HAF A

Corract Answar: Oxalic Add
s Fea

Candidate Answer: Carbonic Add
TRl 7

QID : 87 - which amoeng the following is a negatively charged ion?

el # B S 0F HoT Jai¥a s 37
Opticns:

1) Calcium ion

FiooaA AraA

2) Zinc ion

ot

3) Silver ion

Format 3=

4} Iedine ion

HIE A

Correct Answer: Iodine ion
WRIEA M=

Candidate Answer: [odine fon
TS HTE

QID : B8 - What is the common name of sodiurn carbonate?

TR FRAAT T AART ATH ¥ 5
Options:

1) Limestone

AT I

2)Lime

kY

3) Marble

Laccs

4) Washing soda

atf¥far ey

Correct Answear: Washing soda
=i whr

Candidate Answer: Washing soda
arfdior wisr

31561
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QID : 89 - Which of the following is most reactive in nature?

farfafts # & oha ged 3+ sfafranha sesg w2
Options:

1) Potassium

i

2) Calcium

Eacier:]

3) Lead

dren

4) Copper

aftar

Correct Answer: Potassium
dreferra

Candidate Answer: Potassium
wréfeaa

QID : 90 - Which among the following is not a Biotic compenent of environment?

Triefte & W i 3T =T &7 U S ued a &7
Optons:

1) Parasites

ot

2) Decomposers

M

3) Non-Green plants

A gt

4 Soil

k4

Correct Answer: Soil

oy

Candidate Answer: Decomposers
HUOAS

QID : 91 - Bleaching liquars are inorganic pollutants produced mainly by which IndustryfIndustries?

L. Paper and Pulp Industry
IZ. Jron and Steel Industry
Y. Mining Industry

T T & AET AR W R wguE R a3 g §?

L. Frrar AT ey s
II. AgT w1 35T
11 T 3
Optians:

1) Cnly I

a1

2Cnly 11

LTl

3) Only I

e 111

4) Both 11 and 11T

It 3% U1 €At

Correct Answer: Only |
Haa 1

Candidate Answer: [ NOT ANSWERED ]

QID : 92 - Which among the following is not a Kharif crop?

ferfaite @ o wie wow 58 8
Options:

1] Tur daal {arhar}

T (HET)

2) Bajra

I

3) Wheat

4) Maize
T

32/81
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Correct Answer: Wheat

)

Candidate Answer: [ NOT ANSWERED ]

QID : 93 - Under MUDRA Bank, loan ranging from Rs 50,000 to Rs 5,00,000 is categorized under

77T 8 & He1d 50,000 € 7 5,00,000 T FF Ao & Ay g

Options:
1) shishu

Correct Answer: Kishor
fmi

Candidate Answer: Kishor
fmi

QID : 94 - Who among the following discovered blood group?

e ¥ & Rve o w0 € G Ar
Opticns:

1) Joseph Fourier

s gl

2] Kar| Landsteiner

we T

3) M. S. Swami Nathan

. . Jem

4) Richael Carlson

TEIW FIEHT

Corract Answaer: Karl Landsteiner
et dzediae

Candidate Answer: loseph Fourier

v g
QID : 95 - 'Faster, Higher, Stronger ' s motto for which of the following Games Event?

TR, BT, AR RRE WA FFEAEA 9T BeY 87
Opdons:

1) Aslan Games

uffios Arw

2)1PL

I, . T

3) Qlympics

Eicieed

4} FIFA World Cup

I e 7

Correct Angwer: Olymgics
Hiwifs

Candidate Answer: Aslan Games
ufftos Arg

QID : 96 - "Jamini Roy * was associated with which Art form?

TR T BR e @ TRt 47
Options:

1) Dancing

=

2) Singing

it

3) Drama

B

4) Painting

farawar

Correct Answetr: Painting
fermrar

Candidata Angwer: [ NOT ANSWERED |

3381
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QID : 97 - Which film has been awarded with Best film on Sodlal Issue in 645 National film Awards.

64 & i Revr ques # wafas 72 ot a7 #ia ¢ fovmm =) geesr fvan &7
Options:

1) Dargal

T

2) Sultan

Yol

3} Pink

fiw

4) )y LL.B. 2

Fielt Tl Tl A1 2
Correct Answer: Pink
s

Candidate Answer: Pink
gi-c

QID : 98 - "My Country My Life' is written by .

T O TS ARE ____ e P T
Options:

1) Raghav Bahal

TET IE

2) Lal ¥rishna Advani

wieT pour Frsaret

2) Mamita Banerjee

FAAT AT

43 Meira Kumar

AT AR

Correct Anywer: Lal Krishna Advani
TR H0T TSR

Candidate Answer: Lal Krishna Advani
AT T HTEETR

QID : 99 - Which of the following was the fifth country o join BRICS?

feriailm & & b B (BRICS) & Szt avan St 3o wr?
Opticns:

1) Argentina

E'r iy

2) South Africa

ZOT IR

3) Spain

=

4) Sri Lanka

Ao

Correct Answer: South Africa
& anfr

Candidate Answar: South Africa
af mfe

QID : 100 - Kaladan transport project is between Indfa and .

FAEIR AT TRETA ARG T FdwE
Options:

1) Nepal

Euct

2) Bhutan

3) Myanmar

TIRR

4) Afghanistan
ko s

Correct Answer: Myanmar
A

Candidate Answer; [ NOT ANSWERED ]
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QID : 101 -

[fx =7 + 2110, then what is the value of J_—i?

Ix

Iiﬁ.’x=7’+—2\l'1_0%’?f,El‘I’«,f_—i T Al T &7
Jx

Options:
1)

2.2
2)

2(054%)

22

4
2
5(22+45)

Correct Answer:
2
3 (2@ ++/5 ]

Candidate Answer: [ NOT ANSWERED ]

QID : 102 - Which of the following relation(s) is/are true?
L7+ v3>v5+4/5

IL¥5+v5>v24 /R

L V5 + V5 > 7 + ¥3

s & & St wyd ww iy 7 §E
Ly7+¥3>v5+4/5
ILY5+v5>v2+ 8

IL ¥S + V5 > V7 + 3
Options:

1iCnly I

Fae 1

2) Only II and 11

e L @ I

2) Qnly 1 and 1T

e Tanr 111

4) All 1, O and 1T

1, 81 % 101 &t

Correct Answer: Only IT and 1T
Fae 11 g 11

Candidate Answer: [ NOT ANSWERED ]

QID:102-Ifa =1+ 3, b=1-v3,then what is the value of aZ + b2 ?

wfra=1+v3 b= 1- V35, o a? + b2 & ww Fa1 87

Options:
14

)8
3o

a2
Correct Answatr: 8
Candidate Answer: [ NOT ANSWERED ]
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QID : 104 - What is the unit's place of 12123>

12123 1 g 3 FATR?
Options:

12

4

e

a8
Correct Answer: &
Candidate Answer: §

QID : 105 - Haw many two digit numbers are divisible by 3 but nat by 72

2} st & vt ey ¥, 5 3 @ R ¥ kw7 g afly
Options:

113

22

3} 20

4) a7

Correct Answer: 26

Candidate Answer: 26

QID : 106 - Pipe A can fill a tank in 12 hours and Pipe B can fill the tank in 18 hours. If both the pipes are ppened on alternate hours and if pipe & is opened first,
then in how much time {In hours) the tank will be ful?

T A T ShY T 12 Y A N AT § T 9T B 3W SR Y 18 O 7 SRS ¥ AR St gt 2 arf-ard & ve-ues o o e e S § oen IR ugv B #
oEd AT e &, ot € Rt wev (e ) A et

Options:
1)

1
143

2
1
173

3

1
142

4

1
165

Correct Answer:

1
14~
2

Candidate Answer: [ NOT ANSWERED ]

QID : 107 - A, B and < can do a piece of work in 20, 24 and 30 days respectively. All theee of them began the work together but B left 3 days before completion of
the work. In how many days was the work completed?

A, B TUT C O FT F FAN: 20, 24 T 30 Rt 3 AT T E1 A A Bror S o 3R 0 § TG B T Wh 26 # 3 R g FTd O Ten A &)
i Tt T o o g grn?

Options:
17

2)10
»Hn

€99
Correct Angwer: §
Candidate Answer: [ NOT ANSWERED ]

QID : 108 - The marked price of an article is Rs B480. If a discount of 12.5% is given, then what will be the selling price {in Rs) of the article?

o g T M FeT 8480 3. B TR 12.5% 6 ge &t 8, o ag w e Aew (5. W) wr e

386/81
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Options:
1) 7420

2) 6890
3) 6360

4) 7380

Correct Answer: 7420
Candidate Answer: [ NOT ANSWERED ]

QID : 109 - An tter is sold for Rs 1428 after two successive discounts of 12.5% and 20%. What is the marked price (in Rs) of the article?

U S W 12.5% A1 20% 1 5 FHE B XA & G 1428 T W 3 A {1 7w NS Hpw (5 W) Fw

Options:
1) 2000

2) 2100
3) 2040

) 2400

Correct Answer: 2040
Candidate Answer: [ NOT ANSWERED ]

QID:110-

Options:

1)8:12:
28:15:
NG 10;

4p8:12:
Corvect Answer: 8:12:15:10
Candidate Answer: [ NDT ANSWERED ]

19:
12:
12:
15:

Staff Selection Commision
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QID : 111 - A started a business with Rs 20000 and B jeined after some time with Rs 25000, If A and B share the profit in the ratio of 1 : 2 respectively, then what

is the ratio of the time period of investment for A and B respactively?

AT AT H 20000 T. F AN AT § U B FO T TR 25000 F. F Y S F wiAT A {1 IR A AGw B AN A 1 2 F A A E A

A A T B & Tady # AT et w ura Fan g

Options:
ni:2z
25:6
N5:8
Nns5:7

Corract Answaer: § : 8
Candidate Answer: 5. &

QID : 112 - The average of § cunsecutive even numbers is 25. If the next even number is also considered, then what is the new average?

& AT TA T 1 A 25 #1 7R I 3| dwar w S a3, & aan e e

Optigna:
1) 27
2)25
3HN2W%
428

Correct Answer: 26
Candidate Answer: 26
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QID : 113 - There is group of 8 teachers. One teacher leaves the group and a new teacher joins the group. Due to this, the average age of teachers becomes same
as the average 2 years ago. If the member who left was aged 42. Then what is the age {in years} of new teacher?

8 IUTIHT FT OF T §) UF AF WA DI &0 & T O T EAF FHE A I §) I AT F ICATH A AT 30 2 A g5y A 3T 3 F WA g
et §1 af St aver wvwaras Hr 3 42 28, B 7 vcaraw o g (et ) w®an g

Options:

122

228

324

4) 26
Correct Answer: 26
Candidate Answer: [ NOT ANSWERED ]

QID : 114 - A purchased ar: article and sold it te B at a loss of 20% and B seld it te C at a gan of 20%. C purchases the article for Rs 480. For what price (in Rs) A
has purchased the article?

AT I A TRAETNERN 0% NAMRITME MBI MNCRA 0% F M TITT U CRG N 40T AFRT AT N FI oA (5. H W
wier ar

Options:

1) 500

2) 450

3) 420

4) 480
Correct Angwer: hHG0
Candidate Answer: [ NOT ANSWERED ]

QID : 115 - 2(% of cost price is equal to 30% of the: selling price. What is the loss percentage?

U A7 ¥ 20% R 7 ¥ 30% & v §) o i e

Optons:

1133.33

2) 50

3)20

425

Correct Answer: 33.33
Candidate Angwer: 2(

QID : 116 - Salary of & is 20% mcre than B and salary of B is 18% meore than £. The salary of C is {approximately) how much percent less than A?

A H HTT B F 20% STET & 7407 B 3 W C 7 18% Ty 21 € 3 (7 A ® Rt wieva SR

Optigns:
1) 20.3%

2)32.5%
3)26.7%

4) 28.1%
Comract Answer: 29.3%
Candidate Answer: [ NOT ANSWERED ]

QID : 117 - Price of sugar increases by 30%. [f expenditure increases by only 10%, then by how much percent consumption should decrease?

A 3 e & 30% B RGN E1 ot oo aa 10% ¥ agen &, o @oa 3 free vl £ o @i

Options:
1314.29

2)15.38
21348

43 16.54
Correct Answer: 15.38
Candidate Answer: [ NOT ANSWERED ]

QID : 118 - Amit goes 10 his offica by car 3 the speed of 30 km/fhr and reaches 15 minutes 2arlier, If he goes & the speed 60 kimfhr, he reaches 15 minutes late,
What will be the speed {In kmyhr) of the car to reach on tme?

S 0 U & ket T GERT 80 P ANeie A A e & R 15 Tt el o ot 21 A o 60 Reaheter o a4 s & 15 T 20 & wgaan 31
B T R agna ¥ e B afy (v adya #) w e
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Options:

1
5(5g
7

572
7

682
7

89i
7

2)
3
a4

Correct Answer:

623i
7

Candidate Answer: [ NOT ANSWERED ]

QID : 119 - (na third of a cartain journay is covered at the speed of 80 kmy/hr, ane fourth of the journay at the speed of 50 kmfhr and the rest at the speed of 100
km/hr. what will be the average spead(in km/hr) for the whole journey?

O AT TR AT 80 R A /e Fr Ry @, A a1 vw-dtad A 50 R /e F afer & wom O s 100 Fr.Ar e Er Al & a fe s § g aar F
2 3Ry At nf (RR A e 3 Fn g

Optons:

175

2)67

3) 66.66

4) 76.66

Cotrect Answer: 75
Candidate Anaswer: [ NDT ANSWERED ]

QID : 120 - What is the compound interest {in Rs) on a principle sum of Rs 2800 for 2 years at the rate of 12% per annum?

2800 %. & FEve T 2 w6t A 12% B anfie ox & wwefy T (5. %) 7 e
Options:
1) 687.18
2) 634.46
3)712.32

4) 568.68
Correct Answer: 712.32
Candidate Answer: 712,32

QID : 121 - If interest being comeound half yearly then what sum {in Rs) will amount to Rs 38416 in 2 years at the rate of 0% per annum at compound interest?

TR S SATEF FNTT T 00, 3 2 7 A 90% Fr ATF 2T A e SIS 9T 2 I (8. A), 30416 . & I
Optigns:

1) 14000

2) 15000

3) 10000

4) 12000

Correct Answer: 10000

Candidate Answer: [ NOT ANSWERED ]
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The table given below shows the number of
students studying in five colleges in the given

five years.
a2 & ar$ arfaer & Re v ofw asf
qia Florall & 9¢ & OTF & &I &
ZelaT T B

Year College/¥TelraT

¥ M N o P Q
2009 | 450 | 330 | 400 | 500 | 500
2010 | 480 | 380 | 380 | 520 | 510
2011 430 380 440 440 440
2012 480 360 480 490 450
2013 490 340 360 550 550

fgrldt-. p

If in year 2011, in college N, 80% of the total students appeared in a exam, out of which 50% students passed, then how many students passed the exam?

iz @ 2011 A HIT N A A Fr Tt A A 80% 0 wlvew A st &, Forent A 50% o7 oftew F sechof go €, ar alten & Rrae o sedl go?

Options:
1) 136

2) 152
3) 156

4) 162

Correct Answer: 156
Candidate Answer: 156

QID:123-

The table given below shows the number of
students studying in five colleges in the given
five years.

ara & ar$ arfeer & U arw orw ast &
UTT Floeil H ¢ @ A B HEAT @

goir T ¥l
Year College/¥Teror
a¥ M N o P Q

2009 450 330 400 500 500
2010 480 380 380 520 510
2011 430 390 440 440 440
2012 480 360 480 490 450
2013 490 340 360 550 550

What is the ratio of the total number of students of college N in all years to the total number of students of all the colleges styding in the year 2011?

Tt Gt A, Fferet N A get ard et oAt B e qur a¥ 2011 F @l SIS # gge aTel o OTal A FEA F FAA: W 7491 87

Options:
1) 100 : 107
2)90: 107
3)90: 119
4)90: 127

Correct Answer: 90 : 107
Candidate Answer: 90 : 107
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The table given below shows the number of
students studying in five colleges in the given
five years.

A & ar$ arforer & fw v ofw ast &
Ta @lolal & Ug & OTA Y §&dr &

gelt T T gl
Year College/TIarar
¥ M N o P Q

2009 | 450 | 330 | 400 | 500 | 500
2010 | 480 | 380 | 380 | 520 | 510
2011 | 430 | 390 | 440 | 440 | 440
2012 | 480 | 360 | 480 | 490 | 450
2013 | 490 | 340 | 360 | 550 | 550

What is the average of the total number of students studying in college M in the given years?

few are st 4 et M # 92 @ Fo oTH1 H woar w7 Hed 74§

Options:
1) 412

2) 420
3) 400

4) 466

Correct Answer: 466
Candidate Answer: 466

QID:125-

The table given below shows the number of
students studying in five colleges in the given
five years.

A & a$ aferer & & v v ast &
T Fiosl & U¢ @ OTEl T JE&dr &t

Zelar I ¥l
Year College/Terar
¥ M N o P Q

2009 | 450 | 330 | 400 | 500 | 500
2010 | 480 | 380 | 380 | 520 | 510
2011 | 430 | 390 | 440 | 440 | 440
2012 | 480 | 360 | 480 | 490 | 450
2013 | 490 | 340 | 360 | 550 | 550

In which of the given years the average number of students studying is maximum?

fow oo o 9 3 gget arer orat f Fer F e wftwae 2

fgrldt-. p
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Options:
1) 2011

) 2008
3) 2010

43 2012
Correct Answer: 2013
Candidate Answer: 2013

QID : 126 - The perimetre of a rhambus in 20 cm and one of the diagonal is 8 cm. what is the area (in o) of the rhombus?

wh T 7 T 20 F3 § o v o Bt $y s 8 24 L aaE waTew @A S wr b

Optigna:

1)12

)24

348

4) 96

Correct Answer: 24
Candidate Answer: 24

QID : 127 - Three gircles of radius 9 cm are kept touching each ather. The string s tightly tied argund the three circles. What is the length (in cm) of the string?

& Q. Fasar are e geet @ e 3 et aed gu Tar v &) <l geat & art i o o de el ran @) endt B o (@ ) Farg

Options:

1)98 + 180

2)48 + 240

3154 + 180

431 54 + 24n

Corract Answaer: 54 + 18n

Candidate Answer: [ NOT ANSWERED ]

QID : 128 - The difference between circumference and the radius of a circle Is 111 em. What is the area (in cm?) of the circle?

oo ge Ay oftflr aun W & At 110 A0, {1 qea o1 faws (@02 ) s @2
Options:

1) 469

2) 1386

391z

4) 1086
Cotrect Angwer: 1386
Candidate Answer: [ NDT ANSWERED ]

QIO : 129 - If the diameter of a sphere is 14 o, then what is the curved surface area (in cm?) of the sphere?

af v G T e 14 A E, G 7 9w e fewe (A2 &y wm iy
Options:

1)616

21232

3) 2464

a3 576
Correct Answer: 616
Candidate Answer: [ NOT ANSWERED ]

QID : 130 - If the ratio of valume of two cubes is 11 : 13, then what is the ratio of the sides of the two cubes?

T &Y gt & oA 1 AT 11 2 13 §, & vt gt 1 3w angena war gy

Options:

1N11:13

2121 16%

3) (12 13172

45 (11)13 ; 1317

Corract Angwer: (11)17 : (13343
Candidate Answer: [ NOT ANSWERED ]
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QID:131-

Ay =GB then fnd e valisof e+ L5

"

I x=17-418 &, ar \/}+izﬁrmzﬂn’g‘.?
Jx

Options:
1) 72

2)9
3)22

4)6
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]

QID:132-

If &° + b? + ¢* +—12~+£2~+~12~=6, then what is
a ¢
the value of a2 + b2 + ¢27?

ofg az+b2+cz+12+lz+lz=63' a2+
a b c

b2 + c2 T AT &1 87

Options:
1)3

2)6
3)-3

4)2
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID:133-

If 3x2 — 9x + 3 = 0, then what is the value of

[_x—:%f?

g 3x2-9x+3=0%, ar (x»rlJ FT ATH

b
82

Options:
1)9

2) 729
3)81
4)27

Correct Answer: 27
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Candidate Answer: [ NOT ANSWERED ]

QID : 134 -

If x—l=3, then what is the valus of x’—i}?
X X

zfy x—1=3%, @ -2 & = &7
X ¥

Optians:
1) 36

2)21
N9

427
Corract Anawar: 36
Candidate Answer: 9

QID : 135 -

If x2 = Bx = 1 = 0, then what is the value of

1 5
x*+ —+5x-=7?
s x
ofg x2—-9x—1=0%, o x4 4 5x—2 ar
X X
AT T g2
Options:
1) 115
2128
3124
4133

Corract Anawer: 128
Candidate Answer: [ NOT ANSWERED ]

QID : 136 - A circle passing through points ) and R of triangle PR, cut the sides P and PR at point X and Y respectively. If PQ = PR, then what is the value (in
degrees) of 2PRQ + 20X¥?

Pt POR ¥ fivg Q 94T R 3 g Ty Al o g, 3T PQ AT PR WY IR T X O Y wieds s B afd PO = PR E, o £PRQ + QXY mT AW (fh )
L e

Options:
1) 120

2150
3) 290

4) 160
Correct Answer: 180
Candidate Answer: [ NOT ANSWERED ]

QID : 137 - A, B and C are the three points on a cirde such that #ABC = 35° and ~BAC = 85°. What is the angle (in degrees) subtended by arc AB at the centre of
the eircle?

faeg A, B AT C T g T 56 W § 5 2ABC = 35° 7T £BAC = 85° §1 W9 AB TWT gra % dvww: T STt o & s (T ) e 87
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Options:
1) 60
2)50
3135
43 120

cotrect Answer: 120
Candidate Answer: [ NDT ANSWERED ]

QID : 128 - In APQR, S and T are the mid points of sides PQ) and PR respectively. If +QPR = 45° and 2PRQ = 55°, then what is the value (in degrees) of 2Q5T?

APQR 3, § o T wr: PQ @3 PR & Aex fiwg 1 afd QPR = 45° &8 £PRQ = 55° &, ot 2QST & #tter (5t oY) war &7
Optiona:

1) 80

285

3) 50

4) 100
Correct Answer: 100
Candidate Answer: [ NCT ANSWERED ]

QID : 139 - AB is a tangent te a cirde with oentre Q. If the radius at the cirde is 7 ¢m and the length of A is 24 cm, then what is the length (in cm} of OA?

AB, U Jrct Torlia & O &, 1 004 10T & S §r FY R B O T TN 3 1 IR e 5 T 7 .90, 91 AB & g 24 T A, ¥, o OA iy Awes (B R
2

Options:

1)25

2)26

32

4331

Correct Answer: 25

Candidate Angwer: [ NOT ANSWERED ]

QID : 140 -

In the given figure, what is the value of £1 +
L2+ /3 +24+ 5+ B+ /FT+/8+/9+
2107

Erag AR H, L1+ L2+ /3+ /4 + /5 +
L6+ T + /8B + 29+ 210 FATA FT 8

Options:
1) 600

2)720
3) 900

) 1080
Correct Answer: 720
Candidate Answer: [ NDT ANSWERED ]
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QID: 141 -

i (tanzx — sin’x)
What is the value of 7
sec”™ X

tan? x — sin’ x
% & AT F47 87
sec’ x

Options:
1) sin? x

2) cos? x
3) sin? x

4) cos® x
Correct Answer: sin® x
Candidate Answer: [ NOT ANSWERED ]

QID: 142 -

Ifsinx = % and cos y= — , then what is the

| =

value of sin(x + y)?

ﬂﬁsinx=%ﬁ‘mcosy=%3, ar sin(x + y)

F AT T &2

Options:
1) 2/3

2) 4/9
3)5/9

4)1
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID: 143 -

Cos X + COS}"_?

What is the value of — -
sinx + siny

COSX + COSy

- - &7 A F1 §7?
SInX + siny
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Correct Answer:
cot u
2

Candidate Answer:

cot (“y
2

QID : 144 - What is the value of sec12° sin12° tan38° tan78” tan52°7

sec12° sin12° tan38° tan78° tan52° T AT F4T §?

Options:
1)1

2)3
3)12

4) 3/2
Correct Answer: 1
Candidate Answer: 1

QID : 145 -

Find the value of
(cote —cosecB + 1) (tanB + sec® + 1)
' ?

cosB cosecB

cot® — cosecB +1) (tanB + secB + 1
nl
cosB cosecO

A F4T §?

Options:
1)2cos8

2)2
3)2cotd

4)2tan 0
Correct Answer: 2 tan 0
Candidate Answer: [ NOT ANSWERED ]
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QID : 146 -

The given pie chart shows the various
expenses (in percent) incurred by publisher on
publishing a book.

few v g9 T F TF UHIh ER1 Uh
gids & g 7 foer v fafes s=i
(ufaera &) & guir T gl

— Printing /
Sregarsit 9
12%

Advertising /
EEGILG Paper /
18% FT
14%
Royaity / Others /
R 2] I
17% 8%

If the total amount spend on the publishing the book is Rs 68000, then what will be the amount (in Rs) spend on Advertising?

a2 qras & T T o3 $ a1 F A 68000 ¥, B, A R v g A g af¥ (3. A7) F e

Options:
1) 11560

2) 12240
3) 9520

4) 8160
Correct Answer: 12240
Candidate Answer: 12240

fgrldt-. p
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The given pie chart shows the various
expenses (in percent) incurred by publisher on

pu

blishing a book.

few v g9 T F TF UHIh ER1 Uh
gids & g 7 foer v fafes s=i
(ufaera &) & guir T gl

Binding /

fSegarst
12%

Advertising /

ICEIEE]
18%

Royalty /
et
17%

Printing /

If the amount spend on Binding is Rs 14400, then what will be the amount (in Rs) spend on Paper?

afe; e ov s &y o ufd 14400 5. &, & Fwrsr ov g iy 7 af¥ (5. &) @2y aeie

Options:
1) 7200

2) 20400

3) 15600

4) 16800
Correct Answer: 16800
Candidate Answer: 16800

fgrldt-. p
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The given pie chart shows the various
expenses (in percent) incurred by publisher on

publishing a book.

few v g9 T F TF UHIh ER1 Uh
gids & g 7 foer v fafes s=i

(iR ) @ Rmar =T T

Binding /
Sregarsit

12%

Advertising /

ICEIEE]
18%

Royalty /
et
17%

Printing /

By how much percent the total amount spend on Paper and Binding is less than the amount spend on Printing?

TS o fovearsl ot 2y ) 78 F O, o8 W emy A1 g 0T @ Reaa gfaed w45 8

Options:
1)21.21

2) 45.45
3)30.3

4)33.33
Correct Answer: 21.21
Candidate Answer: 21,21

fgrldt-. p
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QID : 149 -

The given pie chart shows the various
expenses (in percent) incurred by publisher on
publishing a book.

few v g9 T F TF UHIh ER1 Uh
gids & g 7 foer v fafes s=i
(ufaera &) & guir T gl

— Printing /
forecarsht 9
12%

Advertising /
EEGILG Paper /
18% FT
14%
Royalty / Others /
Taedy I
17% 8%

By how much the average amount spend on Printing, Paper and Royalty is more (in Rs) than the average amount spend on Advertising and Binding if total amount
spend on Publication is Rs 1500007

TS, TS AT Tl o 2 Y 918 Heas Ui R aun Sieewreh ot eaa 61 w8 siteae A @ Read w0 (5.9 &, 2 wene o a f ad e oy
150000 %, 2

Options:

1) 9500

2) 10000

3) 7500

4) 9000

Correct Answer: 9500
Candidate Answer: [ NOT ANSWERED ]
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QID : 130 -
The given pie chart shows the various

expenses {in percent) incurred by publisher on
publishing a book.

fow o7 g9 T & ©E weeE R TE
gFaE & wereed # for av fafea =t
(faea @) @ guiar = &)

Binding /

Printing f
Rregarsht
i) 53

33%

Advertising /
faama= Paper /
18% T
14%
Royalty / Others /
Tiaety =
17% 6%

For 11000 books the expenses incurred on athers is Rs 36550, If publisher wants a profit of 25%, then what should be the marked price {in Rs) of each boaok?

11000 qereet & fone, st o R arr s 36960 . ¥1 o smmares 25% o mnar e £, 2t s e o iR i (s ) R g

Options:
1) 56

27
3) 70

4) 50
Correct Answer: 70
Candidate Answer: [ NOT ANSWERED ]

QID : 151 - In the following question, some part of the sentence may have emrers. Find cut which part of the sentence has an erfor and select the apgropriate
option. If a sentence is free fram error, select 'No Emmor’.

Three lakhs of people {1)/ attended the kshop (2)/ held in Ramleela ground. {3}/ Mo Error (4)
Options:

11

2)2

33

44

Correct Answer: 1

Candidate Answer: 1

QID : 152 - In the following question, some part of the sentence may have errors. Find ouk which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, sekact ‘Mo Ervor’,

Ayesha is g the few people (1)/ in the office which did not {2}/ blindly fallow the path of other. (3)/ No Errar {4)
Optigns:

n1

22

33

4114

Correct Answar: 2

Candidate Answer: 2

QID : 153 - In the following question, some part of the sentence may have errors. Find cut which part of the sentence has an error and select the appropriate
option. If 2 sentence is free from error, select 'No Error'.

I would (1)/ rather to (2)/ die than beg. (3)/ No Error {4)
52/61
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Options:

101

22

33

44

correct Answer: 2
Candidate Answer: 3

QID : 154 - In the following question, same part of the sentence may have emrors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Ankit can not (1)/ succeed because £2)/ he labours hard. (3}/ No Ertor (4)
Options:

101

22

KV}

44

Correct Answer: 3

Candidate Answer: 4

QID : 155 - In the following question, some gart of the sentence may have emers. Find ¢uk which part of the sentence BRs an grror and sekect the appropriate
option. If 3 sentence is free fom eror, select Mo Emot,

The teacher (1] explained everything (2)/ very clearty. (3)/ No Emror (4]
Options:

11

92

33

44

Correct Answer: 4

Candidate Answer: 4

QID : 156 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct altemative out of the four and
indicate it by selecting the appropriate option.

Hundreds of have been used in the study of the past and of man's progress.
Options:

1) stories

2) tales

= methods

4) motions

Correct Angwer: methods

Candidate Answer: methods

QID : 157 - In the following question, the sentence given with blank to be filed in with an appropriate word. Select the carrect altemative cut of the four and
indicate it by selecting the appropriate option.

Computar literacy will be ial in hildren to copa with the overall advancement.
Options:

1) teaching

2) negotiating

3) separting

4) encouraging

Correct Answer: teaching

Candidate Answet: encouraging

QID : 158 - In the fallowing question, the sertence given with blank to be filled in with an appropriate word, Sefect the correct altemative cut of the four and
indicate it by selecting the appropriate option.

Vishal couldn't breakfast today.
Qptigna:

1) had

2) have been

3) have

4} having

Correct Answer: have

Candidate Answer: have

Q10 : 159 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct altemative out of the four and
indicate it by selecting the appropriate opthon.

One of the pens no ink,
Options:

1) has.

2) have

3)is

4) are

Correct Angwer: has

Candidate Answer: has
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QID : 160 - In the following question, the sentence given with blank to be filled in with an apprapriate word. Select the correct altemative cut of the four and
intlicate it by selecting the appropriate option.

This Is the same dog
Options:

1) wham

2) who

3) which

4} that

Correct Anawer: that
Candidate Answer: that

was tunniog on the road.

QID : 161 - In the following question, out of the four alternatives, select the word similar in meaning 1o the word given.

Ablaze

Options:

1) cool

2) furious

3) restore

4) prokeng

Correct Answer: furicus

Candidate Answer: restore

QID : 162 - In the following question, out of the four alternatives, select the word similar in meaning te the word given,

Chivalrous

Options:

1) herolc

2) abhorrent

3) doleful

4) rude

Correct Answer: hercic

Candidate Answer: [ NOT ANSWERED ]

QID : 163 - In the following question, out of the four alternatives, select the word similar in meaning te the word given,

Concocted

oprigns:

1) certain

2) sensitive

3) pathetic

43 dubious

Correct Answer: dubious

Candidate Answer: [ NOT ANSWERED ]

QID : 164 - In the following question, out af the four alternatives, select the word similar in meaning te the word given,

Gambaol

Optigna:

1) britde

2 frisk

3] shallow

4) wark

Correct Answer: frisk
Candidate Answer: shallow

QID : 165 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Jangle

Optiona:

1) quite

2) fatter

3] disagree

4] spongy

Correct Answer: disagres
Candidate Answer: spongy

QID : 166 - 1n the following quastion, out of the four alternatives, select the word opposite in meaning ta the word given.

Keen

Options:

1) mesk

2} sharp

3) presatve

4) dull

Cotrect Angwer: dull
candidate Answer: dul)
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QID : 167 - In the following question, out of the four alternatives, select the word apposite in meaning to the word given.

Lolter

Options:

1) wandker

2) punctyal

3] sober

4 froe

Corract Anawer: punctual

Candidnte Answer: [ NOT ANSWERED ]

QID : 168 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Madden

Options:

1) calm

2) enrage

3) sordid

4) fussy

Correct Answer: calm

Candidate Answer: [ NOT ANSWERED ]

QID : 169 - In the follawing question, out of the four alternatives, select the word opposite in meaning to the word given.

Panitancae

Options:

1) stenile

2) appravel

3) deter

4) remorse

Correct Answer: approval

Candidata Answer: [ NOT ANSWERED ]

QID : 170 - In the fullowing question, out of the four alternatives, select the word opposite in meaning to tha word given.

Slacken

Options:

1) rejoice

2) increase

3) flimsy

4) abate

Correct ANSwer: increase

Candidata Answer: [ NOT ANSWERED ]

QI0 ; 171 - In the following question, out of the four alternatives, select the alternative which best expresses the mearing of the idiom/phrase,

A dark horse

Optigns:

1) no longer in use

2) seif-possessed

3) a competiter of unknown capabilities

4) an unfortunate person

Correct Answer: a competitor of unkrown capabiities

Candidate Answer: a competitor of unknown capabilities

QID : 172 - In the follewing question, out of the faur alternatives, select the altemative which best expresses the meaning of the idiom/phrase.

Al at sea

Options:

1) completely confused

2] in great trouble

3) rise and fall

4) inspite of

Cotrect Answaet: completely confused
Candidate Answer: [ NCT ANSWERED ]

QID : 173 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Bear up with

Optons:

1) endure

Z) deceit

3) uncertain

4) avoid

Correct Answer: endure
Candidate Anawer: endure
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QID : 174 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Creature comforts
Options:

1) hint

2] luxuries

3) support

4) colloquial

Corract Anawer: luxuries

Candidnte Answer: [ NOT ANSWERED ]

QID : 175 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To clear the decks

Options:

1) throw the challenge

2) talk boastfully

3) to remove obstructions

4) contro! one’s anger

Correct Answer: to remove obstructions

Candidate Answer: to remave ohstructions

QID : 176 - Improve the bracketed part of the sentence.

The red and {the white rose) locks beaukiful.
Options:

1) white rose

2) a white rose

3) an white rose

43 Na improvement

Correct Answer: white rose

Candidata Answer: white rose

QID : 177 - Improve the bracketed part of the sertence.

I {have seen) him last year,
Options:

1) kad seen

2) am seeing

3) saw

4) Na improvement

Correct Answer: saw

Candidata Answer: saw

QID : 178 - Imprave the bracketed part of the sentence,

Shashank appealed to the judge (for his release) from jail.
Optigns:

1) of his redease

2) from his release

3) his releasa

4) No improvemant

Correct Answer: No improvement

Candidate Answer: of his release

QID : 179 - Improve the bracketed part of the sentence.

Rohan has ne acquaintance (from Sourabh}.
Options:

1) of

2jon

3) with

4) No Improvement

Correct Answer: with

Candidate Answer: of

QID : 180 - Improve the bracketed part of the sentence.

His mother kas been ill (for} five days ago.
Options:

1) since

Zof

3) from

4} No improvement

Correct Answer: since

Candidate Anawer: since
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QID : 181 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Shamelessty rude
Options:

1) imbecike

2] impudent

3) Infallible

4) Invincible

Corract Anawer: impudent
Candidnte Answer: impudent

QID : 182 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A place for invalids and ! ts
options:

1) hermit

2) vatuous

3) sanatorium

4) dormitory

Correct Answer: sanatonium

Candidate Answer: dormitory

QID : 183 - In the following question, out of the four alternatives, select the altemative which is the best substitute of the phrase.

A perscn wha is fond of fighting
Options:

1) bellicose

2) sinecure

3) deserter

4) pedant

Correct Answer: bellioose
Candidata Answet: sinecure

QID : 184 - In the fallowing question, out of the four alternatives, select the albermative which is the best substitute of the phrasa.

Story told to llustrate a moral or spiritual truth
Options:

1) nubile

2) elegy

3) parable

4) ade

Correct Answer: parable

Candidate Answer: [ NOT ANSWERED ]

QID ; 185 - In the Mllowing question, out of the four alternatives, select the altemative which is the best substitute of the phrase.

The poRcy of extending a country’s emplre and Influence
Optigns:

1) debauchery

2} parchment

3) denigration

4) imperalism

Correct Answer: imperialism

Candidate Answer: imperialism

QID : 188 - In the following question, four words are given out of which one ward is incorrectly spelt. Select the incgrrectly spek word.
Options:

1) mentering

2) beginning

) challenging

4) inviting

Comrect Answer: mentering

Candidate Answer: mentering

QID : 187 - In the following question, four words are given cut of which one word is incorrectly spelt. Sefect the incerrectly spek word,
Options:

1) pleasant

2) maxlroum

3] homorous

4) Inferior

Corract Answaer: homorous

Candidate Answer: homorous

QID : 188 - In the following question, four words are givin out of which one word is incorrectly spelt. Sefect the incorrectly spek ward.
Optons:

1) frequent

2) furiges

3 ferorious

4) fabulous
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Correct Answer: furices
Candidata Answeat: furices

QID : 189 - In the following quastion, four words are given out of which one word is incorrectly spelt. Seloct the ingorrectly spek word,
Options:

1) apparantly

2} aggressive

3} ambassadar

4] attention

Correct Answer: apparantly

Candidate Answer: apparantly

QID : 190 - In the following questian, four words are given out of which one word s incorrectly spelt. Sefect the incorrectly spek word.
Optipns:

1) mercenary

2) magnanimus

3) wakaful

4} melancholy

Cotrect Answer: magnanimus

Candidate Answer: magnanimus

QID : 191 - In the following passage some of the words have been left out. Read the passage carefully and select the cotrect answer for the given
blank out of the four alternatives,

Life priorities and are never going te reduce, But ameng all of them, make some time for the well being of the environment you live in. To save our
environment, life changing movement, is required. If anything is required, that is will power, honest and sgme small initiztives. Save gur
environment by being a responsible citizen. Teach your child and others ta save water. Do not waste water. It's a very element of our envirorment.

Life priorities and are never going
Optons:

1) dreamis

Z) ambitions

3) passions

4) necessities

Correct Answer: nacessities
Candidate Anawer: necessities

QID : 192 - In the following passage saome of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Life pricrities and _______ are never going to reduce. But among all of them, make some time for _______ the well being of the eavironment you live in. To save our
enviranment, life changing movement, is required. If anything is required, that is will power, honest and some small initiztives. Save aur
enviranment by heing a responsible citizen. Teach your child and others [ save water. Do not waste water. It's a very element of our environment.

make some time for
Options:

1) ensuring

2) resulting

3) developing

4) enlarging
Correct Anawer: ersuring
Candidate Answer: ensuring

the wall being of the environment

QID : 193 - In the following passage some of the words have been left out. Read the passage carelully and select the correct answer for the given
blank out of the four alternatives.

Life priorities and are rever going to reduce. But amorg all of them, make some time for the well being of the environment yau live in. To save our
environment, life: ehanging mavement, is required. IF arything is required, that is will power, hanest and some small initiatives. Save our
ervironment by being a responsible citizen. Teach your child and others to save water. Do not waste water, It's a very element of our environment.

Save our environment,
Options:

1) 5ame

2) huge

3 no

4) sufficient

Corract Answer: no

Candidate Answer: some

life changing movement

QID : 194 - In the fullowing passage some of the words have been left out. Read the passage carefully and select e correct answer for the given
blank out of the four alternatives.

Life priorities and are never going ta reduce. But amang all of them, make some time far the well being of the enviranment you live in. To save our
enviranment, life changing mavement, is required. If anything is required, that is will power, henest and some small initiztives. Save our
environment by being a responsible citizen. Teach your child and others to save water, Do not waste water, It's a very elemert of our environment.

that is will power honest and some small initiatives
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Options:

1) assurance

Z) factor

3 working

4] inclination

Correct Answer: Inclination
Candidate Answer: working

QID : 195 - In tha fallowing passage some of the words hava been laft out. Raad tha passage carefully and select the corract answar for the given
blank out of the four alternatives.

Life priorities and ara never going to reduce. But ameng all of them, make sore time for the well being of the enviranment yau live in, To save our
envirenment, life changing movement, 1s vequired. If anything is required, that is will power, honest and some small initiatives. Save our
environment by being a responsible citizen. Teach your child and others o save water. Do not waste water. It's a very element of aur environment.

It's & very elament of our enviranment.
Options:

1) contradictory

2] pracious

2} healthy

4 bulky

Correct Anawer: precious

Candidate Answer: pracious

QID : 196 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Culture is defined as a people’s way of life. Tt entails how they dress, how they speak, the type of food they eat, the manner in which they worship, and their art
among many cther things.

Indian culture, therefore, is the Indians' way of life. Because of the population diversity, there is immense variety in Indian culture. The Indian culture is a blend of
various cultures belenging to a diverse refligion, castes; regions follow their own tradition and culture,

Indian Culture is one of the okdest cultures in the world. India had an urhan civilization even during the Bronze aga. The Indus Valley Civilization (Harappan
Civilization) dates back to 3300 BC - 1300 BC.

Distinct cultures different from each other co-exist together in a single country. Thus, in India, there is unity amidst vast culturzl diversity. The way people live in
India is reflected in its culture,

Unity in Diversity: India is a land of unity in diversity where people of different sects, caste and religion live together. India is also called the land of unity In diversity
as different groups of pecple co-operate yath each ather to live in a single sockety, Unity in diversity has also become the strength of India.

Secularism: The word secularism means equality, impartdality, etc. towards all religion. India is 2 secular couniry, which means, equal treatment of all the religions
present in India,

Traditions: traditional cultural values Gestures

= Touching feet of elders: Indian tradition has rich cultural walues. In India, younger shiow areat respadt to their 2iders. They touch the feet of their elders daly after
waking up and espedially en the festive occasions or before starting an important work.

» Namaste: The gesture of the Namaste greeting is also part of the Indian culture. People greet each other by saying "Namaste” while joining their hands. "Namaste"
means "Hello". (Alst read, the meaning of Namaste here.)

= Most Indians have a habit of shaking their beads while talking.

If 1 am a culiural, well-behaved Indian, what wen't I do?

Options:

1) Touch the feets of the elders.

2) Join my hands while doing 'Namaste’.

3) Wake up early in the moming, espedially on the festive cccasions.,

4) Shake my head as a habit while talking.

Correct Answer: Wake up early in the merning, especially on the festhve oacasiens.
Candidate Answer: Touch the feets of the elders.

QID : 197 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Culture is defined as a people’s way of life. 1t entails how they dress, how they speak, the type of food they eat, the manner in which they warship, and their art
arnong many cther things.

Indian culture, therefora, is the Indians' way of life. Because of the population diversity, there 15 Immense variety i Indian culture. The Indian culture is a blend of
various cultures belonging ta a diverse religion, castes; regions follow their own tradition and culture.

Indian Cutture is one of the ckdest cultures in the world, India had an urban civilization even during the Brenze age. The Indus Walley Civilizaben (Harzppan
Chvilization) dates back to 3300 BC - 1390 BC,

Distinct cultures different from each othes Co-exist together in a single tountry, Thus, in Ingdia, there is unity amidst vast cultural diversity, The way people live In
India is reflected In its culture,

Unity in Civersity: India is a land of unity in diversity where people of different sects, caste and religion live tagether. India is akso called the land of unity in diversity
as different groups of people co-cperate with each other to live in a single society. Unity in diversity has also become the strength of India.

Secularism; The word secularism means equality, impartiality, ete. towards all religion. India is a secular country, which means, equal treatment of all the religions
present in India.

Traditions: traditicnal culturgl values Gestures

= Tauching feet of elders: Indian tradition has rich cultural values. In India, younger show great respect to their elders. They touch the feet of their elders daily after
waking up and especally on the festive occasions or before starting an important wark.

« Namaste: The gesture of the Namaste greeting is also part of the Indian culture. People greet each other by saying "Matraste” while joining their hands. "Namaste”
means "Hella". (Also read, the meaning of Namaste here.)

+ Mast Indians have a habit of shaking their heads while talking.

Why is India ealled a unity in diversity?

Options:

1) Different groups of people co-operate with each other,
2) Pecple of different sects, caste and religion live together,
2} It is strength of India.

4) Al of these

Correct Answer: All of these
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Candidate Answer: All of these

QID : 198 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Culture is defined as a people’s way of life. It entails how they dress, how they speak, the type of food they eat, the manner in which they warship, and their art
arnong many cther things.

Indian culture, therefora, is the Indians' way of life. Because of the population diversity, thare is immense variety in Indian culture. The Indian cufture is a blend of
various cultures belonging ta a diverse religion, castes; regions follow their own tradition and culture.

Indian Cutture is one of the pldest cultures in the world. India had an urban civilization even during the Brenze age. The Indus Valley Civilizatben {Harappan
Civilization) dates badk to 3300 BC — 13900 BC.

Distirict culbures different from each ather co-exist together in a single courtry. Thus, in India, there is unity amldst vast culturzl diversity. The way people live in
India is reflected In (ks culture,

Unity in Civersity: India is a land of unity in diversity where people of different sects, caste and religion live together. India is also called the land of unity in diversity
as different groups of people co-aperate with each other to live in a single sockety. Unity in diversity has alsa become the strength of India.

Secularism; The word secularism means equality, impartiality, etc. towards all refigion. India is @ secular country, which means, equal treatment of all the religions
present in India.

Traditions: traditional cultural values Gestures

» Touching feet of elders: Indian tradition has rich cultural values. In India, younger show great respect to their elders. They touch the feet of their elders daily after
waking up and espedially on the festive occasions or before starting an important work.

« Namaste: The gesture of the Namaste greeting is alsa part of the Indian culture, People greet each cther by saying "Mamaste” whil: joining their hands, “Namaste”
means "Hello". {Alsp read, the meaning of Namaste here.)

= Most Indians have g habit of shaking their heads while talking.

Which of the following is net true according to the passage?
Options:

1) Culture entails how people dress.

2Z) Culture entails how people speak.

3) Culture entails how pecphe warship.

4 Culture entails what drawing people draw.

Cotrect Angwer: Culture entails what drawing people draw.
Candidate Answer: Culture entails what drawing people draw.

QID : 199 - A passaga is givan with fiva questions fallowing it. Read the passage carefully and select the bast answar to aach quastion out of the
given four aternatives.

Culture is defined a5 3 people’s way of life. 1t entails how they dress, how they speak, the type of food they eat, the manner in which they warship, and their 21t
among many other things.

Indian culture, therefare, is the Indians’ way of life. Becouse of the population diversity, there is immense variety in Indian culture. The Indian culture is a blend of
various cultures belonging to a diverse religion, castes; regions Tollow thelr own tradition and culture,

Indian Culture is one of the okdest cultures in the world, India had an urban civilization even during the BronZe age, The Indus Valley Civilization (Harappan
Crvilization) dates back to 3300 BC — 1300 BC

Distinct cultures different from each other co-exist together in a single country. Thus, in India, there is unity amidst vast cultural diversity. The way people live in
India is reflected in its cultune.

Unity in Diversity: India is a land of unity in diversity where people of different sects, caste and religion ive together, India is alse called the land of unity in diversity
as different groups of people co-operate with each ather to live in a single society. Unity in diversity has also bacome the strength of India.

Secularism: The word secularism means equality, impartiality, ete. towards all religion. India is 8 secular country, which means, equal treatment of all the religions
present in India.

Traditions: traditicnal cuttura| values Gestures

« Touching feet of elders: Indian tradition has rich cultural values. In 1ndia, youngar show great respact to their elders. They teuch the feet of their elders daily after
waking up and especially on the festive occasians or before starting an important work.

» Namaste: The gesture of the Namaste greeting is also part of the Indian culture. People greet each cther by saying "Namasta" while joining their hands, "Namaste”
means "Hello". (Alse read, the meaning of Namaste here.)

« Most Indians have a habit of shaking their heads while talking.

Based on the above paesage, which of the following is NOT e about [ndian culture?
Options:

1} Indian qulture dates back bo 3300 BC — 1300 BL.

2) Envy religion follows their own traditon and customns.

3) Every religion is treated equally in India.

4} In India there is unity in diversity.

Correct Answer: Envy religion follows their own tradition and customs.

Candidata A + Envy religion follows their own tradition and customs.
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QID : 200 - A passage is given with five questions following it. Read the passage carefully and select tha bast answer to aach question out of the
given four afternatives.

Culture is defined 25 a people's way of life. It antails how they dress, how they speak, the type of food they eat, the manner in which they worship, and their art
among many other things.

Indian culture, therefore, is the Indians' way of life. Because of the population diversity, there is immense variety in Indian culture. The Indian culture is a blend of
various cultures belonging to a diverse refigion, castes; regiens follow their own tradition and culture,

Indian Culture is one of the cidest cultures in the world. India had an urban civilization even during the Bronze age. The Indus Valley Civilization (Harappan
Civilization) dates back to 3300 B - 1300 BC

Distinet cultures different from each other co-exist together in a single country. Thus, in India, there is unity amidst vast cultural diversity. The way people live in
India is reflected in its culture.

Lnity in Diversity: India is a land of unity in diversity where people of different sects, caste and religion live together. India is akeo called the land of unity in diversity
as different groups of people co-operate with each other to llve in a single society. Unity in diversity has also become the strength of India.

Secularlsm: The word secularism means equality, impartality, etc. towards all religlon. India is a secular cauntry, which means, equal treatment of all the religions
present in India.

Tradltions: traditional cultural values Gestures

« Touching feet of elders: Indian tradition has rich qultural values, In India, younger show areat respect to their 2iders. They touch the feet of their elders dally after
waking up and especially on the fastive occasions or befiore starting an important work.

» Namaste: The gesture of the Namaste grecting is also part of the Indian culture. People greet each other by saying "Namaste” while joining their hands. "Namaste"
reans "Hello". {Alse read, the meaning of Namaste here.)

+ Most Indians have a habit of shaking their beads while talking.

What is the reason behind the immense variety in Indian ailture?
Options:

1) Blend of varisus culaures

2) Population diversity

3 Cultural diversity

4} Secularism

Correct Answer: Population diversity

Candidate Answer: Cultural diversity
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